Back Cane Assembly
Basic Tilt and Tilt Only

______ - %

Mercury switch
Item 2 and 15 are reference only_
used to attach
fixed curved backs to
the back cane.

Mercury switch
attaching hardware




Back Cane Assembly
Basic Tilt and Tilt Only

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 0014500-NLA | NLA - Grip, Hand 1 1
2 0053006-NLA | NLA - Screw, Hex Head (1/4-20 x 3/4") 1 3
3 7930333 Locknut (1/4-20) 25 1
4 0050006-NLA | NLA - Lockwasher, External Star (1/4") 2 2
5 0062800-NLA | NLA - Bracket, Cable/Wire Mounting, Black 1 1
6 0054906 Locknut, High Profile (5/16-18) 1 1
7 0060600 Bushing (7/16 x 5/16 x 1-1/4") 1 1
8 0055800-NLA | NLA - Washer, Nylon (7/16 x 3/4 x 3/32") 1 4
9 0055506-NLA | NLA - Screw, Button Head, Socket (5/16-18 x 2") 1 1
10 0309902-NLA | NLA - Back Cane Assembly 1 1
11 0116702-NLA | NLA - Post, Mounting 1 1
12 0054700-NLA | NLA - Washer, Nylon (5/16 x 1/2 x 1/16") 1 4
13 0052606-NLA | NLA - Screw, Hex Head (1/4-20 x 2") 1 1
14 0049824-NLA | NLA - Spacer, Coved (1/4 x 3/4 x 7/16") 1 1
15 0050506-NLA | NLA - Lockwasher, High Collar, Split (1/4") 1 3
16 1072788-NLA | NLA - Back Cane Assembly 1 1
17 7930332-NLA | NLA - Locknut, High Profile (#10-32) 25 1
18 0139306-NLA | NLA - Screw, Socket Button Head (#10-32 x 3/4") 1 1
19 0002902-NLA | NLA - Bracket, Mounting, Black - Left 1 1




